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Note : This question paper consists of three Sections — A, Band C.

SECTION - A 10x2=20
1.  Very Short Answer Type Questions :

(i)  Answer all questions.

(ii) Each question carries two marks. . '

|

(D IfZ=(cos 6, sin 8), then find (Z * z)

@ KZ=x+iy and ‘Z\ = 1. then find the locus of Z.
3. If 1. w. w2 are the cube roots of unity, then find the value of (1 —w + w2)3.
4 Find the set of solutions of .\j" +x-12<0by algebraic method.

. 5. Ifa, B, y are the roots of 43 — 622 + 7x + 3 = 0, then find the value of
of + Py + you |

Find the number of ways of preparing a chain with 6 different coloured beads.
If nC, = 210, then find n.

Find the number of terms in the expansion of (2x + 3y +2z).
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Find the variance of the following data :
5,12.3.18,6.8,2, 10
10. The mean and variance of a binomial distribution are 4 and 3 respectivéiy. Fix
the distribution and find P(x = 1). ; |
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